A 1R

9l () 108 (JK) 11H(K) 128 (£)
BR% —AzY =k —AHY i BER% —ANEY | |#z% BER% —AHY
EXRR=E EXRR=E EXS=E EXRS=E
% (BEXkER) 65| |F |wwwses snsos M-3200] |% |gEEXER) 65 % EEXK (R 60
"E? saaib £ 0.5 ?f BOTIh DS a6 280 [T [HEER (B 1l |2 Ak ER) 70
5 |[EmGExamzs() 25 N [mecses snzon 300 :E E 7 Y *kuE Fit 6
5 F= 0.5 % [BARSGEx3INZI(R) 20 F gk 0.5 *kuE Fit 7
[ZAlZ< 06| 5 = 04 (= %
N ES 10| |& |BHE 15| [ &3 206 |7 [&E 206
L(AS 7| |A [BRENFIECGE) 5| (1%
CRTEHEE 1kg 5 SES 25| |A (#)3=0553 HATAY 20| [ (4) B2 RIS BAL 50
‘3 55 3 05 ?FL EX 2| |, [EExemasz 15 g EE i
CLsse 2l ™ [x#R 15 g [DECAl=eC 2| | |[&E 2
» LB 13 |z [2BAZ 10 HLIIFS 15| |5 [L&SW 1
- [E&E 1| |l Bl 10| |8 [AB 10| |~ [(BI& 0.1
+ FXa A 05| [A  |runtr@Es 20 8E: ke 5| |A (4) &L AIFA 500g 8| | X8 4
7 |BiE 05 |Y [t 5| |6 [tookact—n) 1T [TARA 3
¥ |EmE o1] &[54 05| |€  [@EuL= 3 |, [t 5
. f{ Le50 4 'E: BS54 i[9
w &R 206 (& |#YA g [Lso® iz |Ee3Y 25
pt » |BfE 05| ¢ |=Em 3| [0 [Az 7
A LEEYDHA 3| [IF [TARA 2| |= BB 1 | K PFLKIR 4.5
Y 3L 25 ZEFL LA 5/ (@ |#AYA 05| B |E)HAEH 0.5
b [Laxz 2] [ [k 110] |2 [Eui 20| | [&BEF 25
g =p>Y 15 |5 z ? LeSH 2
=2 AS 5 |g 3L 206| [T |BHAIGx3mRIIR) 10 y Nd=}] 1.2
[ B 55 0Y (5~ 10miE) B 1 [ L HBIT 5 @ CFH 0.7
5 |B 22| |3 |[CA)£EIT 20| |4 |E2FEVE(2emfE) 30
L&50 1] (Y Ayt e 4 [+ [ KB 20| |t [EBER 20
e =T 1] | A 8| & [xiR 5
- Y54 0.5 (#) Favay—Chyh) BE 25 ADEIT 5 [t [kps 5
7 [CEa 05 "g Tl 05 P 5 AS 5
v O EHT 9 AR 5
9 |[B—z/LcEf BRE 5 |5 [UDHEAVEIEY— 40 ATL LA 4 K 5
Lo |byy BEEXER 20| | 7K 110 EE2 5
FE 20| | fhE 5
hhFE 3 IIJ 59<bLESKP 1
FLbhh & (k) 0.8 BiE 0.5
Y355 0.5 ThRA 0.5
(&) R—F 4 BlVET LA 3
L&SW 0.8 HLEHR 0.5
BiE 0.4 7K 110
ZL&d 0.03
FExLasy A 0.3
CFEiml 0.2
= 140
UB) 37Ty SR 28




A 1R

158 (A) 168 (K 178 (K) 18H (K) 198 (£)
s Bad —AHY | |#zs Bmdb —AHY | |mas Bmdb —A&Y | |#zsa Bmdb —A&Y | |#os Bmdb — A%y
EkRDE ERDE ERDE ERDE ERDE
& [HEXER) 63 [K  [xHp/ 50| (B |Ek (FEE) 60 [ [FEER(B#) 66| (£ |[BEX(EF) 60
2 [EEkER) 70 (B Dray 60| | X [@EEX(EH) 70 | [EEk(ER) | |5 [EEkER 70
S [eex of | n [xnz =8 o |2 [xEE B& o| |F [xmz = 6
A [BER 10 43 206 |] KuiE Fit 7 |3 |RHE BR 7 XuE FH 7
e of |4 5 A |IRERBDHG 19| [a
4+ [EB 2| |3l |Beibex3mr542) 30| |« (43 206| |~ |#ksE{EX 05| (3L |43 206
i &k 0.8 () KEKE 35| [R E 3
R [Lentnd 40| | [BEiEx3mr5CR) 25| |[A |43 206| | |wzzowrars 50
i,(u" = w6 || & w0 B [z 40| |Y (&
- g AS 13 [} Cohng 30| [~ BRI (2 X BenASAR) 20 g RULRAL GER) k= 5
A |BE B-EBLEx2m) 9 || ASd)) 05| (4, AS 15| |4 ] 1 | +£PL 30
N |BA Hb-EELE2x2m) 6| [ Y55 1| |« |RAZAWLBEE55m) 15] |5 800 20| (& |cwzbmodany)sooes 15
T [hAacALBESSm) 20| (X |@r=rEa—L ke 6 FEWTIFES 10 EHEE(H4a0) 18| |2 [Ev3Y 7
A DECAIRC 10 I TS Tk E N i 2=D) 5| [S |E& 0| B Az 5
U %0SIES 10| |7 |[tEE 12| B [iIzal=< o5 12 [Az 8 L&S5W 2
b AS 7 ; HRAA—Y—R 0.7 o = 0.5 f (A)EBLAIFA 5008 7 é BEE 1.5
& |[WEeLAITA 5008 6l [ Fxoay A 06| |4 54l 1 5 ULV (RS54 B ke 4 H A=k 1
5 |CFH 2| [ |BE 05| |4 [IhEH 6] [5. [L&SW 35| [, |SFEiH 0.8
¥ |LL3W 3 |15 [SL&S 0.05| [~ |AL—#2 1 |l |=E# 25| |6
O (=B 12| [ B 40| L |55 4l |- |BaE 01f (@ |asmeexzmz542) 15
# |HYh 1 % @& hsR—T 4| |F [EYE LA 2| 1B [(BELE 35
3'_ WYBRIE 1 Z () TOyay—Ghyh) B 30 i (%) FRMFroT ke 2 Z ol 50 2— KiE 20
! —% 001f = |[FrRY 20| | JRE—Y—R 13| |5 o ARE 10
% 5 | . [AZ 5 |y |EARDY—ZR 1 (LR &32358 (L—2) 7 RS Azl 10
I G S o | o 2 5 |65 |[L&IW 1| |la |B% 40| (v EVLSIES 7
b 1w 5| (0 |BEE 33| |A | FrYR _450¢ 1| |&  |[EShAE 20| |1& |AB 7
KB 20| |# S5l 1.3 |? FARESH 1] | ANS 5| |& LM (RSAR)RE The 5
EES 20| & |EaE 1117 |as 0.6 f{ FEE 13 HYh 26
AB 7|5 |[BE 0.4 Z ) 004 |go |BEE 1.2 LESK 2
AhE 7111 [ELsS 003 FEALVYA 04 | |IELEE 1.2 b 1
hHE 55| |2 3 |& 80| |p |L&SW 0.4 BiE 0.3
HHAZ 5 |~ [YAZ 40| || F |BiE 0.2 BIVET LA 3
ZFL LA 4| |# g |EEEYSHA 2 |Y HLE®H 0.5
K 120 (P [(@)F—R #kasie 135 b [OAqoLER 35| |® K 60
% bk 25| | %
- A 5
() v—J)La—> 5
L&S5KW 2.3
B 1.6
=} 1
Y3545 0.5
CFEil 0.5
(E)3—4 Lk 70

_2_




A 1R

228 (H) 238 (K) 24H (k) 258 (K) 268 (£)
k3 2 B4 —AN&Y | |#zs B4 —A&Y | #zz =4 E —AN&Y | |#zs BRf —A&Y | |#xz BR% —A#HY
EXRRE ERRNE ERRE ERRE ERNE
t |gyRiy 50 % BEX(EHR) 60| (V¥ |EEXER) 65 ? BEX(E) 60| |2 [wEk@E®) 59
’7" RIS 60 Et BEX(EH) 70 ? goRibk 05 |=  [BEXEH) 70 fgf XHE B 6
2 S [xaz w 6| | [22Y 3| % [xmz = of [, [|EEafX 05
5  |[FE 206 *HE FHR 1L |asd 5 KhiE FF 7| [me mossLaxam 9
W 4 DEZAITRL 8| |p A |msm tbemsLaxim 6
¥ |BAREIEIVF 20| |5 |4EL 206) (4 |ZEWLIIES 7 'f (8) BR 3 1T DY (580 25| [® BAESHE 1
I lems7 10 % [As 7l [1f S |[r—avEm 5
PAET | 25 :IL B M-EHEL(2x2) 33 CATERT ke 5/ [P |45 206| |5 |EZE 10
|E' AS 10 y /A bh REL(2x2) 22 f’ L&5W 4| Y ~ | EEBAS 10
(%) b hkE 5 1, BB LI BB 1.5 PP (G NS T 35| B [a)oEig ke 5
g |[E==v 4 |l |BIE 015 | |#YA 05| |g, [Hf-til 4 {)\ IZAIK 02
g [I2AIK 03| | I TARA N+ |BiE 0.4 BiE 01| |2 [¥S5ih 2
() FMrFryT Tk 8| | [fEftaih 6| |A [HLEH 1] |Hh FEraryA 0.5
7 [HRE=Y—R 2| B [kh¥F 4| |B Z |o—zLCEm) B 5| |+ (B8 05
7 |lhzn 1 ; £ 05 Z 43 26| ¢ |[BRTx 30| [# [cLss 003
7 [|[ERESE 05| |7 |I2Al 03 f\ FrAy 15] [
Y 05/ |4 |[L&IW 3 |15 |ZE& 30| |3 [BBL 15 L |&EL 206
b |BiE ol |5 |&EE 25| |5 |TASRS 10 L |[EDHHER 05| |=
5 A N=F 18| |= HE)FAIE 40| |d L&5K 23] | S ARF—Z (4mnfs) R 6
| [(esut=g o] | &2 [cxm os| | [#55m og| |» [o7EE 1] [T [y 30
BAESE 1| |3 it |Lesw 2| |2 |tEm 1] |z [Az 10
~—av () 5| |7 [g%L 2 | 204 05| |® o (oL 15
(LR AER—ZE Tkg 10 7'3 =5y 15 x CFEi 0.2 f R HAAYEE 30| [¥ [wiems me-so 2
Lehtd | | [AB 8] [4, |l 10| g [|X8R 25| |5 (Y54 2
& 30| [ |[E—2v 5 |1z R |EBAS 7 L& 2
=E4 15[ |A (L& 25| |A  |BEiEGEx3mR51R) 10| |T [HE#% 55| [ [EB%E 0.5
AZ 7 (Y |BEE 25| |&  |&£384 cnEas 15| |3 |haE 5/ [Y  [SL&S 0.02
Lol 5| [ (Lo 13 [P [x#& 151 | B0yl 003 ﬁ
D os| | ¥ [S=m 08 2B 8 {j; EFL LA ) [0 [xrammmns 5
IN— 05| | ML 0.05 rtd 5/ [= |k 120 |42 |EHE 20
(&) HeR—7 4 | LV (542 BEE ke 5 ;I) A |Cehg 20
I—VRE—F 1 (LR)5>F 580 1ke 20 BT 55| |z 2 Laz 20
FEravYA 06 EF¥:l 20 HAHZ 5 i XHABZ(CTIL) 5
ais 0.55 Fo YA 10 EE 1] |® v oy 3
) 0.05 S 5 EZTL £LAE 4] |& 4 |o—yzx 0.1
SAEALEL 30 ZDET-IF 5 K 150 E "l" Y543 05
& 45 (&) PR —TF 4 z 5 [(EABR—T 4
YI5 0.5 (E)Fn=#%s 2| [5 FEavyAt 0.3
L&5K 05 & 2 |L&SKW 0.3
FE YA 0.3 (& 0.3
?iﬁ _ 0.4 30 ;L;i 0.03
ZL&S 0.03 > & 120
= 120 A
"f (B)EETATULSLE 25




A 1R

298 (H) ) 31H (k)
L% BRd — A&y Bn% — A&y Bn% — A&y
ERSE ERSE EKSE
= e D ATAY 50| |V |HBEX(EFE) 60| [& [BER(ER) 72
M B oof || [EEXEH 0| & [EEXER 80
~ AEESTERE 6| [#
SR E= 206 K% Tt 7 43 206
> N L
4 |EmEYAF—(2m) 10 : 4% 206 JL; BA M- KA (2 x 20m) 12
2|, A M- AL (2 x 20m) 9 = 1) A b EAL (2% 2em) 8
B bbeEHL(2x 20m) 6| | |BAKXKS(2cmfH) 45| |- BB 1
R [Lehrg 50 |1z B 1 1< [B<b 15
bO|EE 45| A | PS5 H 1 |17E [HRIAICRL 30
7 |FeRy 20 |~ |[(LR)SFS0R1ke 20| B [#uSES 20
AS 15 E& 30 NATA (LB ES58MM) 20
j; B BEVAFAE Tke 10 f': 1= DIKE GR—IL) 10 f': AS 15
o hqd=D] 2 7. AS 7 # (A) &PV AIFA 500g 8
v I8t2!) 0.7 K |Eerrasmse e 5 £ CFEil 1
~ HS5H 1 B fhE 3 < L&S5KP 4
5 |[(BHoR—TF 4 |z |[EE 05| |4 [ 28
R |BARESE 1|1 I2Al1=< 05| [4 |TARA 0.7
BiE 05 |7 (U35 03| |& |£L:t 6
27 |ZL&S 0.03 L&5KWp 3
Yo [FERravYA 03[ |2 [#4RE—Y—R 2| & [AEEGYN) 1ke 30
I [a=yzx of| |- [ZEE 15 |17 [E& 20
L g 75| [N [BE 05| > [z 8
T f CE 05 ? LoHC 7
z (LR FECHEE 5 ThARA 01f |5 ¥ 5
AS 35| |,¢ K L |BiE 0.7
=Y 25| | ¢ H+ o DFL<BELESRD 0.5
YACEE 15| |+ [R—avGEm 5 BIYET LA 4
B 1|y | KR 25 HLE 1
=] 1| |7 |E& 15 7K 120
A—Jh o8| [V [AB 7
B 0.3 hh¥E 3 (LR LLAEE 10
cL&d 0.02 H£= 0.3
Y355 0.5
(E) s —LF—X 18 (B)H5R—F 4
L&SK 0.7
FEoavY A 0.5
pi] 0.5
CFEil 0.3
BiE 0.3
ZL&> 0.03
= 130
SRR ERECLFAREFRLAEE) 30
(B) BEE/ 1> 40




